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< 3,117,397
s 10,568,818
SEELH Y 2,087,898 2,360,938 A 273,040
< 536,220
i 1,551,678
IEELY 2,087,898 2,360,938 A 273,040
= 536,220
i 1,551,678
E8HH 2 AKX 855,200 1,101,200 A 246,000
201 2et24d] 20,600 20,600 0
01 At 22l 9,800 9,800 0
O+t 4,200
—B=2d 222 MA 2,000& » 5008 1,000
—Ez2d g% NH
50,0003 * 1401SH = 23] 1,400
—d3ANE S3tE e P2
150,000& * 64 * 23] 1,800
o=zg=¢ 5,600
—=AR2Ss BH +g
70,0003 * 20 43| 5,600
03 A2 Z Hl 10,800 10,800 0
O8sY =84 2,500,000& 2,500
O6.258 & 7243 H At 3,500,000 3,500
O6.258 & 724 AL HAYXE
600,000& = 8CH 4,800
202 oidl 3,240 5,400 22,160
01 = LH YI 3,240 5,400 22,160
OE=sg=2Fd 90,000& = 3¥ » 12& 3,240
203 R =&l 3,200 3,200 0
03 Al =X A2 =& 3,200 3,200 0
OB&I=E A2 20,000& = 1009 2,000
OHdA2HE 2E3l 300,000& = 43| 1,200
301 etEd 3 669,060 918,900 A 249,840
01 A3l EE E =56l = 669,060 918,900 A 249,840
OINEB=UAX BE2Hu=
50,000& * 920 » 12& 552,000
OI2NEB=UaX BE2Xed3
20,0003 * 1,451F = 33| 87,060
OEEKRST MERZZ 300,000& = 1009H 30,000
307 2Iz2t0l A 159,100 153,100 6,000
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AN =S
M 2N BB MY
oelr RIBEMY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 393,600
301 LEXZ 684,120 698,520 A 14,400
< 290,520
s 393,600
01 MEIBEZE 05z 684,120 698,520 A 14,400
OEEEERIN Hl=<(328Y)
684,120,000 684,120
< 290,520
e 393,600
dEZIRE Bl 68,400 68,400 0
S 34,200
s 34,200
301 LEMZ 68,400 68,400 0
< 34,200
s 34,200
01 MEI2EZE 46z 68,400 68,400 0
OHS2ZEdRE o= (57Y)
100,000& * 57" * 123 68,400
< 34,200
s 34,200
=ER34 N 1,800 1,800 0
= 1,260
s 540
301 LEHZ 1,800 1,800 0
< 1,260
s 540
01 MEI2EZE 05z 1,800 1,800 0
O=SgR3A 2zl XA 1,800,000& 1,800
< 1,260
s 540
EEAE 22 33,938 33,378 560
101 124 dl 14,738 14,178 560
4 JI12ZtHZ2REE+ 14,738 14,178 560
Os&g &Z3&l 1444813 = 15H * 43| 8,669
ONYe.25&MI|EHl &3 F
144,481& + 10H » 23] 2,890
ogdadd A Fi
144,4813& = 3 « 43| 1,734
OZ4 X7 HH & FHl
144,481& » 53 23| 1,445
201 Let24d]| 9,200 9,200 0
01 At 2teltl 4,200 4,200 0
O+t 4,200
—SEANE 20 A 700,000& = 63l 4,200
02 2324gHl 5,000 5,000 0




A FUEX L
M 2N BB MY
Crel: RpEEMY
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
OZ2Z222 ¥ HMA 3,000
— SN (ZEEEH) dIIR2 3,000,000& 3,000
OA & &Yl XYl 2,000
— S SAE A2 2,000,000 2,000
401 Al HI L 2 04| 10,000 10,000
01 Al&H| 10,000 10,000
OSESANAE B A 10,000,000 10,000
HEZ2 EE3 A 19,000 19,000
201 LBt 19,000 19,000
01 AP 22| H| 8,080 8,080
Ogbt424| 8,080
—L4=HG X HA 400,000& = 23] 800
—AYOEBR AR L42
110,000& * 128 1,320
— 520 OEBR ASUH 42
110,000& * 128 1,320
— =240 BIIEA =2 200,000& 200
— 201 AHIAIAE E2Y| 170,000 * 128 2,040
— 2532 2IHFZ)| de
40,0008 = 504 *~ 128 2,400
02 2224 H| 10,920 10,920
OZ2222 ¢ HMA 10,920
— &I Re3 800,000& * 12& 9,600
— A3 100,000 * 12& 1,200
— 52D HANSIRZ 10,0008 ~ 12& 120
S =2 A} 10,000 10,000
307 QI2t0| & 10,000 10,000
04 CIZ2tSHALALS B X 10,000 10,000
OHNe7r=4d 5L =84 10,000,000& 10,000
e MYEEAI2 & At 5,000 5,000
307 S12t0| & 5,000 5,000
04 SIZ2ISHAAISHE E X 5,000 5,000
Ogdgd A 5843 J|ESHA 5,000,000& 5,000
MEEZolol & J|E &AL 15,000 15,000
307 2iz2tol A 15,000 15,000
04 SIZ2ISHAAISH E & 15,000 15,000
OME Rl & I E&A} 15,000,000 15,000
6.25& X S A} 10,000 10,000
307 ciztol A 10,000 10,000
04 QIZ2tSHALALS B = 10,000 10,000




2N
X ZH -
L= B

el

=e =X
INEELY
INEEL S

- _ _ RE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | O6.258 M 72z= 4 S AL 10,000, 0008 10,000
Zofel =X =X 11,395, 186 9,879,783 1,515,403
= 5,084,145
= 2,429
[ 1,177,871
= 5,130,741
ool =2x = 11,395, 186 9,879,783 1,515,403
= 5,084,145
7 2,429
[ 1,177,871
= 5,130,741
JojoIZ 20l N2 2,448,651 2,466,720 A 18,069
= 1,714,055
[ 220,379
= 514,217
301 YBHER2 2,448,651 2,466,720 A 18,069
= 1,714,055
[ 220,379
= 514,217
01 ABI BRI E 252 2,448,651 2,466,720 A 18,069
oFofoler= 2,448,651,0002 2,448,651
= 1,714,055
=] 220,379
= 514,217
oL (IIx) X2 265,679 267,059 A1,380
= 185,975
= 79,704
301 LEtE A2 265,679 267,059 A1,380
= 185,975
= 79,704
01 A B R R 452 265,679 267,059 A1,380
OZhg 265,679,0002 265,679
= 185,975
= 79,704
TSRS S) XS 180,199 175,229 4,970
= 126,139
= 54,060
301 YPHE A2 180,199 175,229 4,970
= 126,139
= 54,060
01 AFSI B R E 25 2 180,199 175,229 4,970
OXtat Jof < 180,199,000 180, 199
= 126,139
= 54,060
ROf (S H) 17,180 17,180 0
[= 5,154
= 12,026
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SM: FUSXD
Mmool =X =A
Sl Zojol =X ZA CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

301 LetE2H = 17,180 17,180 0

5,154
12,026

EUNL

01 A28 H ==6l= 17,180 17,180 0
OZM=& 17,180,000& 17,180

5,154
12,026

M

ZoH=X2 24 1,680,000 1,444,000 236,000

51,100
1,628,900

M H

307 21201 A 1,480,000 1,444,000 36,000

51,100
1,428,900

EUNLY

05 g

S
40
Jm

O
0z
2
e
Ju ou

1,480,000 1,444,000 36,000
1,330,000, 000& 1,330,000

51,100
1,278,900

150,000, 000& 150,000

-
il
20
02

EUNE

O
0z
2
e
o
|
on
M0
02

402

i
°
>

200,000 0 200,000

[

a
S

=)
| A

r

01

S

(Kb TH &) 200,000 0 200,000

ES
olzEEN MY PY X 200,000
E

O
oz
0
o
>
2 ©

[
]
é
2 o
o
1]

153,000, 000& 163,000
47,000,000& 47,000

I
I3
Hu
[H

3

z{_\
ol

o
_>'—ﬂ

N
2
)
N
H
=
x
H0
02
>
0

1,313,118 1,242,127 70,991
826,250
106,232
380,636

HH A

307 21201 & 1,313,118 1,242,127 70,991
826,250
106,232
380,636

HH A

10 AR SAAEHE2SHIEX 1,313,118 1,242,127 70,991
OHAMEAL 2 1,313,118,000& 1,313,118
826,250

106,232
380,636

HoH W

FOAHNFAE FTLd=FH 17,493 0 17,493
12,245
1,574
3,674

HH W

307 clztol & 17,493 0 17,493
12,245
1,574
3,674

HH W

10 A SXAEHE2EHIEX 17,493 0 17,493




2H: FoI=XD
M Fojel 2R S

Sl Zojel =X B CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O MEANLE SL+E 17,493,000& 17,493
= 12,245
< 1,574
s 3,674
ZOUCIA=AIE XN 02+ 7,300 7,300 0
= 2,190
[ 5,110
307 21201 A 7,300 7,300 0
< 2,190
e 5,110
10 ALSISXAIEEE2EHEX 7,300 7,300 0
ORONQIMEAIL BEH OF2t4g
7,300,000& 7,300
< 2,190
[ia 5,110
ZOHAZ2Z2AIHE 29 558,658 495,707 62,951
< 35,646
e 523,012
307 glz2+ol & 558,658 495,707 62,951
< 35,646
i 523,012
10 ALSISXAIEEE2EH EX 558,658 495,707 62,951
OHMIZ22MAE 23 558,658,000 558,658
< 35,646
s 523,012
sHSgdH 29 163,140 152,858 10,282
= 5,700
s 157,440
201 2Bt | 6,000 6,000 0
01 At 2teltl 6,000 6,000 0
ogxtz 6,000
—=0SEHH MR P
500,000& = 12& 6,000
307 glz2tol & 157,140 146,858 10,282
< 5,700
s 151,440
10 ALl SXAIEEE 2 H EX 157,140 146,858 10,282
O==0s9dHd 28 X
157,140,000 10 2 157,140
< 5,700
fia 151,440
OHOl MEBOISKRHE 29 112,100 112,100 0
< 6,800
s 105,300
307 glz2tol & 112,100 112,100 0
< 6,800
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CEe =X
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X ZH
S =

==X
=z

il =X B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 105,300
10 ALSISXAIEEE 22X 112,100 112,100 0
OFMHAMEOISTAME 2L
112,100,000& » 100 & 112,100
< 6,800
i 105,300
AMZEOe =AESHH 29 K& 97,960 95,100 2,860
< 28,300
s 69,660
307 glz2tol & 97,960 95,100 2,860
< 28,300
s 69,660
10 AL SXAIEEE2EH EX 97,960 95,100 2,860
OAlZIE e F=A2SHEYH 294
97,960,000& * 1JH 2 97,960
< 28,300
e 69,660
ZOHASKIAIE SAA =& 179,400 161,377 18,023
< 53,820
s 125,580
307 glz2+ol & 179,400 161,377 18,023
= 53,820
s 125,580
10 AL SXAIEEE2EH EX 179,400 161,377 18,023
OHMAANFAIE, WEANE S SMA =€
85,800,000& 85,800
= 25,740
s 60,060
OZOMASX 2 SAL =< 70,200,000& 70,200
< 21,060
s 49,140
OZMHAXATHEAE SALR =<
23,400,000& 23,400
= 7,020
= 16,380
ZOHUIIEXNJAEH 29 120,833 112,500 8,333
< 36,250
s 84,583
307 21201 A 120,833 112,500 8,333
< 36,250
[ 84,583
10 ALSISXAIEEE2GHEX 120,833 112,500 8,333
OHOCIIIEXNJAEH 24
120,833,000& = 1JH A 120,833
< 36,250
s 84,583
HOHQIBOAISXRAME 29 63,000 61,000 2,000




2N
CEe =X

el

X ZH
S =

==X
=z

il =X B

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 18,900
= 44,100
307 2iz2to| A 63,000 61,000 2,000
= 18,900
2 44,100
10 ABIZXALEE 2SI 2 X 63,000 61,000 2,000
OXIMZOHABIA LT AME 2
63,000,000 * 1JH = 63,000
< 18,900
= 44,100
ZOHOIGEH K& 42,500 41,000 1,500
307 2iz2to| & 42,500 41,000 1,500
03 QIZIH P ESIHIEX 22,500 22,500 0
OXMAOHCIEE &9Hl XN& 16,500,000& 16,500
OAZZEOHeIE3 29Hl XS 1,000,000 1,000
O ERS 29H X 5,000,000& 5,000
11T A EXAIEEX 20,000 18,500 1,500
OXHMZOHel StH =3 K& 2,000,000& 2,000
Os0te 2sdsEs N 10,500,000 10,500
OAZZEOoCl BtAH=HS K& 4,000,000 4,000
OA2ZEOf XNHSSEHE HE XH
2,000,000& 2,000
O&XHEOIo & A XIS 1,500,000 1,500
ZORele & SAF K& 40,000 40,000 0
307 2Iz2to| & 40,000 40,000 0
04 QIZHHALAIRI 2 & 40,000 40,000 0
O&oele &4 EXsdUa ¢ dstal
40,000,000 40,000
ol e XN 19,000 19,000 0
= 7,500
= 11,500
307 2Iz2t0| A 19,000 19,000 0
o= 7,500
= 11,500
11 A EXAIEEX 19,000 19,000 0
OXOEM gst)2t S SALY
1,000,000& * 10& = 10,000
& 3,000
= 7,000
OALUZOHO JIZ=HE D=
5,000,000& = 1JH 2 5,000
= 2,500
= 2,500
OWHLEZC JssE L=
4,000,000& = 1JH 24 4,000
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2N
CEe =X

el

X ZH
S =

==X
=z

il =X B

SN ZH-S(SA) - HRAY

ESS

Off &t 24

=

i
2m

M

2,000
2,000

oL X3 (Lt dRel)

MW

547,862
273,931

82,179
191,752

495,

282

52,580

MW

547,862
273,931

82,179
191,752

495,

282

52,580

tel (A2 M, 209)

547,862,000

EURL Y

547,862

547,862
273,931

82,179
191,752

495,

282

52,580

FoHIL Xl X2 (AR L Xtel)

Mo H

82,762
41,381
12,414
28,967

65,

662

17,100

Mo R

82,762
41,381
12,414
28,967

65,

662

17,100

82,762,000

Mo R

82,762
82,762

41,381
12,414
28,967

65,

662

17,100

Zofel L Xiel X2 (

J
sl
e
Pl
o

Mo A

186,752
93,376
28,013
65,363

168,

902

27,850

Mo

184,752
92,376
27,713
64,663

156,

902

27,850

04 JIAtHZ22XSE*
O =X LXtel XIHA(29Y)

184,752,000&

A

184,752

184,752
92,376
27,713
64,663

156,

902

27,850

MW

2,000
1,000
300
700

,000

2,000
2,000

,000




2N
X ZH -
L= B

el

Fol=x o
Zojel =X
Zojel =X

Off &t 24

=

i
2m

|
02
2
re
I
pal
e
>
o
paa
0

MW

2,000
1,000
300
700

HH W

1
1

.538,989
,077,292
138,509
323,188

1,281,989

257,000

308 MtXIEHMSOIE

Mo H

1
1

,538,989
,077,292
138,509
323,188

1,281,989

257,000

1,538,989, 000&

Mo R

1

1
1

,538,989

,538,989
,077,292
138,509
323,188

1,281,989

257,000

Mo A

2,264
1,585
204
475

2,313

A49

308 XM S0H

M A

2,264
1,585
204
475

2,313

A49

2,264,000&

M

2,264
2,264

1,585
204
475

2,313

AN49

M H

176,646

52,994
123,652

94,080

82,566

307 21201 A

UL

176,646

52,994
123,652

94,080

82,566

A S XAIE E =
o

OssdMed =<0+

=3
=}

Xl

%

176,646,000&

EURE

176,646

176,646

52,994
123,652

94,080

82,566

LYW MHIA HIRH X

HH A

136,080
95,256
20,412
20,412

129,600

6,480

308 A+X| &t

Pl
o
>

S0l A

H A

136,080

95,256
20,412

129,600

6,480




2H: FoI=XD

mE: Fojel =X S

Sl Zojel =X B CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 20,412
N 3JN2SHUe3&HAE AR 136,080 129,600 6,480
©F=3=p\E-P )= EN 136,080, 000& 136,080
= 95,256
< 20,412
= 20,412
LA FAESMHUAXNR 487,985 384,800 103, 185
= 341,589
< 73,198
s 73,198
308 XtXIEHH SOl A 487,985 384,800 103, 185
= 341,589
< 73,198
s 73,198
M 3IN2SUHUE3 LS A 487,985 384,800 103, 185
OSLTOHQ ZABSHUAKS
487,985,000 487,985
= 341,589
< 73,198
[ia 73,198
LA RGN 3,840 3,840 0
= 2,688
= 576
i 576
308 XXIEHHSOIA 3,840 3,840 0
= 2,688
= 576
i 576
M 3IN2SUHUE3 LS A 3,840 3,840 0
OLETMARR2 Melae X& 3,840,000 3,840
= 2,688
= 576
e 576
LEHMC Zus SSHUAXA 49,251 46,635 2,616
= 34,475
< 7,388
[ia 7,388
308 XXM S0 A 49,251 46,635 2,616
2 34,475
< 7,388
s 7,388
113/ 2SoHUHSZHEAEALS I 49,251 46,635 2,616
Oggaofel Zts ssAHHIAXR
49,251,000 49,251
2 34,475
= 7,388
e 7,388




2N
X ZH -
L= B

el

=e =X
gopel =X sa
e =X 58

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

KNAEAXNESE AMSIAHIA EXAFS (ZOHQ!) 3,470 3,470 0
= 2,429
< 312
= 729

308 NXIEHSOIA 3,470 3,470 0
g 2,429
= 312
= 729

112 2SUHUSHEAEAE A Y| 3,470 3,470 0]
OZUABEXD|D| dlEMHE A 3,470,000& 3,470
Fag 2,429
=} 312
= 729

Zojelol =l X 112,271 70,130 42,141
= 89,817
= 22,454

403 XX SHHS K20 & 112,271 70,130 42,141
= 89,817
= 22,454

02 2| 2SOUSA=2EAEAIS Y 112,271 70,130 42,141
OZ0ofel of2Hl N 112,271,000 112,271
= 89,817
= 22,454

AEAEOQ EH EMH| X 2,550 2,550 0]
o= 1,275
= 1,275

301 et M= 2,550 2,550 0
o= 1,275
= 1,275

01 Al E& A 252 2,550 2,550 0
OXNH AN EAH X& 2,550,000& 2,550
o 1,275
= 1,275

HASENQ FHSH 2L 2AH X 1,000 2,000 ~1,000
= 500
= 500

301 et M= 1,000 2,000 A 1,000
= 500
= 500

01 Al E& A 63 1,000 2,000 A 1,000
OFMAS= A A & EHH| 1,000, 0008 1,000
= 500
= 500

CES]b/imE 2,615 2,615 0
= 2,092




2N

=e =X

Mo mojol =X =A
Sl Zojel =X B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 523
301 LEXZ 2,615 2,615 0
= 2,092
s 523
01 MEIBEZE 05z 2,615 2,615 0
O&el BEXI|12 ueg 2,615,000& 2,615
= 2,092
[ia 523
FOAERDD] & HLH X 8,400 8,400 0
< 4,200
[ia 4,200
301 LA F 8,400 8,400 0
< 4,200
[ia 4,200
01 MEIBE X263 8,400 8,400 0
OFMAE XDl & ®oALH XA
8,400,000& 8,400
= 4,200
s 4,200
HHEZMe SMHEXA 2,000 1,000 1,000
= 1,400
< 180
[ia 420
301 LEE2A S 2,000 1,000 1,000
= 1,400
< 180
i 420
01 MEIBEE 253 2,000 1,000 1,000
OLZHel E4tdl XA 2,000,000& 2,000
= 1,400
< 180
s 420
ZOHA=SXIAIR =& 45,098 21,826 23,272
201 €82l 15,208 14,776 432
01 At 22l 15,208 14,776 432
Oget=gH| 9,478
—HMHASXAE AEHX(BB) =2
200,000& * 23 400
— 0 =XHEI 2 1,000& * 1,000& 1,000
— 0o HYEsE 7Y 2,000,000& 2,000
—HHAANHAY EES (YY) ME
400,000& = 33 1,200
—SE=NINCE 2W KB
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= 4,743
s 3,338
-4 8 12,736,000& * 1H 12,736
M4 JI12ZHZEXNSES 30,626 30,626 0
OXEsAF ZOUIOHOE) 23,626,000 23,626
= 11,813
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SN Fo=NY
M oS &
Chel: G SAER R )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
== 2,923
2 8,890
OXNESAH 2ZOUIOIH =4 S 7,000,000& 7,000
202 odl 1,440 0 1,440
01 = LH o4 1l 1,440 0 1,440
OXESA WwEIACIUO0IH
120,000& » 198 = 12& 1,440
04 ASRESS 3,500 0 3,500
01 H3FE= 1,800 0 1,800
OXESA WEIACIHO0IH 1,800,000 1,800
02 SCALEES 1,700 0 1,700
OXNESAt w=s3ACIHO0IH 1,700,000& 1,700
NASAHEEH 29 49,980 49,760 220
< 4,700
i 45,280
201 LB-2E| 20,280 19,560 720
01 At 22l 8,560 7,240 1,320
O e8| 8,560
—AMNREZ 7Y S 1,000, 000& 1,000
~HMEH A28 7Y S 1,000,000 1,000
—HYIIEE Y AT 7Y
50,000& * 123 600
—JIEEEE AU 50,000& = 123 600
—stEa et £X
15,000& = 401 = 123 720
— MAFHI 2 (BADIR 45) 1,000,000 1,000
— SOFHANAE A
110,000& = 204 = 12& 2,640
— &0 dXt 500,000& 500
—3JIEEI 2dxt 500,000& 500
02 2324l 8,720 9,320 A 600
Oz3&2= & HA 4,320
—dIIABE 250,000& = 12& 3,000
— &= AER 35,000& = 12& 420
— &3t FAH 100,000& * 13l 100
—EI3MNERE=S 50,000 * 23] 100
—NASMNEREY UHHEEE= 700,000& 700
OAIE ZHI S X 1,000
—HdEHAE & RAES 1,000, 000& 1,000
OXtg & et 3,400
—EREUH 200,000& = 123 2,400
— X2 +4HH 1,000, 000& 1,000
03 &Ar2 I 3,000 3,000 0
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2N
X ZH -
L= B

el

FoI=X Dt
Ho NS
N NEEEIEES

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFESEAIY SAIES 300,000& = 103l 3,000
301 dEtE M= 18,000 18,000 0
< 3,600
= 14,400
12 JIEtE2 A= 18,000 18,000 0
ONEZBAMET &St
1,500,000 = 1 = 12&€ 18,000
=} 3,600
= 14,400
307 QI2t0| ™ 2,200 2,200 0
< 1,100
= 1,100
02 QI2tAAMAIE E =X 2,200 2,200 0
OXNgSANALN= 2,200,000& = 13 2,200
< 1,100
= 1,100
401 Al HI L 204 HI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
OXNEEAHEH S SZMAAS 5,000,000 5,000
405 XHAHFEIEHI 4,500 5,000 A 500
01 XAt 2 EF S| 4,500 5,000 A 500
OXNESAHEEH MR 22372 4,500,000 4,500
ANEANEHLSE =X 89,720 105,600 A 15,880
201 et 9| 17,500 20,500 A 3,000
01 AP 2t 2] H| 17,500 20,500 A 3,000
Ogttf2Y| 9,000
—RESMN S BERE K
1,000& = 1,0008 1,000
- NYSAES 222 M
1,000,000& * 43| 4,000
— K2 A AALX] 22t 3,000& * 1,0008 3,000
— NEANANHE EES HE 1,000, 000& 1,000
osd44¢ 3,000
— XNFEAX WSAAMB (M2, E51WSE)
150,000& = 203 ~ H€13 3,000
OoYxtz 5,500
— NSA &I Y d=2 IJFSANUSE
Trerelx 1,500, 0002 1,500
—EHAE UEASAT A B4 AT
500,000& * 4CH 2,000
— A B AR
500,000& * 4CH 2,000
202 044 4,320 7,200 A 2,880
01 2L I 4,320 7,200 N 2,880
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M HoH SN
Chel: G SAER R (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O SALA 43t g2=2
90,000& = 4H » 123 4,320
203 PR =&l 1,500 1,500 0
03 Al =X A2 =X 1,500 1,500 0
OXNZSALHH 2+HE 3| 250,000& * 63l 1,500
206 M= Hl 5,000 5,000 0
01 = bl 5,000 5,000 0
OXNZESAES MEHI(IIZSME , BESAH)
5,000,000& 5,000
301 LPEXS 10,400 10,400 0
09 HALAHIX RS 10,400 10,400 0
ONESA & - SLusaHI A28
2,000,000& 2,000
OXNESAL 2EEA, 2385 4% 24
100,000& = 10¥ * 23| 2,000
OXN0tEH LisZEE & 1,000,0008 * 23] 2,000
OHLAEXSA MES 500,000& = 23| 1,000
OXASA &t& 3l &It 7,000& * 200 1,400
O SZEHA RS AR AHIE&
5,000&  400¥ 2,000
307 21201 A 51,000 61,000 A 10,000
02 QAFAAFEX 51,000 61,000 210,000
OFE= A SAAL stOtE20ia 8,000,000 8,000
OR=+=TISAMIL HHME A= 5,000,000 5,000
O ZAHU AFELISEI &L TS A 24SHA
e 5,000,000& 5,000
O0A20I2 2EL=IIAY =&
8,000,000& 8,000
OAMEa & A Y =& 20,000,000& 20,000
OME H=2A LISI MY F=&
5,000,000& 5,000
OIs=3S=2ieg 24 7,550 7,550 0
201 et 7,550 7,550 0
01 At 2teltl 1,500 1,500 0
O+t 1,500
— ==ty 288 7 1,500, 000& 1,500
02 =224l 6,050 6,050 0
Oz22= & HMA 1,550
—0IS=SENE SIFNEEES 50,000& 50
~ 0SSN PTHE U 242
1,500,000 1,500
O Xt & B | 4,500
—ols=sE RFH 250,000& = 10& 2,500
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AN =S
M HER2GFU(FUSK )
¢ D2 (FesX D) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
204 AR HH| 1,200 1,200 0
NEEEEEES T 1,200 1,200 0
OXMZHRFAHI 100,000& * 12& 1,200
Heas (==X 1,013,829 952,643 61,186
WEHAXS(FUEXL) 1,013,829 952,643 61,186
HWEHHX S (=LEX L) 1,013,829 952,643 61,186
701 JIEtSI HSEES 1,013,829 952,643 61,186
01 JIEtel HE &= 1,013,829 952,643 61,186

1,013,829,000& 1,013,829
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